EokE®Mx (6L X)) L &H#

EERIT R IR 74 RE207 58 WE 13454



1—1EKEREET CR) (1—1—2)
w = it 1 =5
P PN 2 N - H B = =iV = o —
= #
K-3 WNHETE/LZ/L] 0
Xy B2 A )ik EE $ 75X 4. Om
DCIP (K) H &% 1. 0+0. 8+1. 0 X 5+1. 2 =8. Om
75
DCIP (K) £ 1) % 1.0 =1. Om
75
8
ZN
ZOfFESE 1SO| 5 =5X 5, 0=25. Om 5
FlKHARV=F L] ¢ 75X5.0m P
FY)E
= MEEE SO 2.5 =2 5m 1
FlKARY=F L] ¢ 75X5.0m P




1= 1 EKERZT GR) (1—1-3)
%% B it 5 i
4 i V2R /NI NS i B X B A7 &= a —

(K) ik 1 1 1

i % $75x90° A
(K) Bk 2+1+2 5 5

i % $T5x45° G
(K) ik 1 1 1

o 5 1 2 ¢ 75 A
(K) ik 1 1 1

51 5 2 i ¢ 75 PN
(K) Bk 1 1 1

2 % T F & ¢ 75X ¢ 75 A
(K) Bk 1 1 1

F_ f T 5 & ¢ 15X ¢ 75 g
(K) 2 2 2

ik i ¢ 75 r
7.5k 1 1 1

V7 kv — LA ¢ 75 3
1 1 1

7g X Sik ¢ 25 =
A pE k| 1 ! !

il & vin ¢ 75 1100 3
NS 1 1 1

A A ¢ 75 H=200 i
KA 4 4 4

# iy ¢ 75 b
K7 18 18 18

i B 17 i 075 I
(SUS) + 7.5k 5 5 5

7 T v A M ¢ 75 I
e 1 1 1

8 9 £ | BT H=900/ s
£5 0 1 1 1

Ze & IR F H|600Xx450 H=0.9fH VA




2T GR) 1—1—4)
e = At B =<2
4 Fiin FiZ2E N S 7t H 2V B 7 = o —
¥7" 94— 1.6+2.5+1.4=5.5 6 6
HOER B Ek v — b W=400 m
¥7° Iy=| 1. 7+1.9+27, 5=31. | 31 31
HOER B Ek v — b W=150 m
5. 5+3. 6+27. 5=236. 6 37 37
g W oor 7T = 7 W=30 m
5. 5+3. 6+27. 5=236. 6 37 37
AR FRT-174 m
TSOFLAS 2 2 2
EF Y 7 v b ¢ 75
5y o Vs 1 1 1
EF itk + (KI¥) ¢ 75 PN




1—1.FUKERET CR) (1—1—5)
% = Gl B =
Ed i iR NI NS i B 2V HLL B | 2 —
B
Tk 1.6+2. 5+1. 4+1. 7+1. 9+5. 7 14. 800 14. 8
B P E A B PE AT T ¢ 75 m
Ty A 19 9 9
P _#k B Y] Wr T ¢ 75 .
18 18 18
G S A e i ¢ 75 .
4 4 4
AT = F Vv HkFE T ¢ 75 .
7. 5K 5 5 5
7 7 v ¥ ik F T ¢ 75 =
(k) 1 1 1
it 8 9 & B T 675 H
(&) 1 1 1
ZE K B E T ¢ 25 H
1 1 1
fii & Jp & & T ¢ 75 H
G T 1 1 !
LA EERET T
1 1 1
22 RO B E T {1 T
5.5+31. 1 36. 6 36. 6
R AR A > — b Aiak T m
36. 6 36. 6 36. 6
B oRT — T Ak T 675 m
36. 6 36. 6 36. 6
Rr=74v) T A=A gk T m
AEES 27.5 27. 5 27. 5
A T F L EAmRR L ¢ 75 m




1—1AKERE T CR) (1—1—6)
g =% 5t A &+
4 Fiin FiZ2E N S =1 = W7 = o
1
AU T L EY T ¢ 75 K
EF (1 O#ET) 5
R =F LU EHTE L 675 {51 T
EF (2 O#kT) 2
R =F LT L 675 {51 T




1—2. BEKELITEEHRCGR)

(1—2—1)

*

B

At

B

a—p 4 g AR NIRRT Hir & " fii &
® @ FAESTHL | BT L
Bl Kk & i g% + T BTSEAS ¢ 75! VLIEAS ¢ 751 MTIEAS WIEAS
1=29.8m L=4.5m 1T 1T
59.60 9.00 6.00 5.00 = 79.60] 80.0
7T A7 7V Ry B T t=10cmPA T = 0.0
BH0.28m* 17.88 2.70 2.25 1.50 = 24.33) 24.0
Bh A5 RO B2 L FE A A t=10emBAF - 0.0
TEHIFEIA 18.77 3.62 6.46 3.96 = 32.81] o 33.0
i S SR M - | N O BH0.28m’ — 0.0
6.78 1.02 0.41 0.27 = 8.48| s 8.0
b A B T PRk = 0.0
RN G 5.54 4.57 = 10.11] s 10.0
e i gl = T BHO0.28m® = 0.0
RC-40~-0 2.16 3.15 = 53] 5.0
o el gl = T BHO0.28m® = 0.0
RC-40~-0 17.88 2.25 = 20.13] 20.0
T oE % A& T t = 25cm = 0.0
M-25 17.88 2.25 = 20.13] 20.0
+ = B T t=10cm = 0.0
g 1 AmoRis 17.88 2.25 = 20.13] 20.0
¥ = | Bk As20F t=4cm = 0.0
g 1 AmoRis 2.70 1.50 = 4200 > 4.0
& =i T.| ML AS20 t=5cm = 0.0
BH0.28m3 1% 13.23 3.62 1.89 3.96 = 22.70) s 23.0
V5 + T 4t-2km = 0.0
BHO.13m* As 0.72 0.14 0.09 0.08 = 103| o 1.0
7 AT 7 ) bl T 2t-10km = 0.0
0.72 0.14 0.09 0.08 = LO3| 1.0
T AT 7 IV bRy B = 0.0
M-40 2.70 1.50 = 4.20( 4.0
= B T t = 15cm 0.0




1—2. BKELTI&EHERGR) (1—2-2)
# = at ] F
a—p £ i} K ST ik Hifr| s i &
D @ FUESTHL | BIEESTHL
Bl Kk & i g% 1+ T BIJEAS ¢ 75! VLIEAS ¢ 751 WI5HAS URTEAS
1=29.8m L=4.5m 18T L&
H=3.0m 1 = 1 o 1
BRI B T W=1.5m = 0
H=3.0m 1 = -~ 1
B ¥ OB B L W=1.5m = 0




1—2.fiKE+ THERCR) (1—2-—3)
i@z = = B =
4 g iR NI R i L = B 7 &
+ T
29. 8 29. 8m
) BT TEAS ¢ 75
AS 2. 0%29. 8 59. 60 59. 60
aOE o W T 10cmPh T m
BH0.28m’ 0. 60%29. 8 17. 88 17. 88
B A R OBUEE LA A A t=10cmLL F m2
Ny EREIRDA | 0. 60%1. 05%29. 8 18. 77 18. 77
o S - N = || R BHO. 2m3 m3
BHO. 2m3 (0. 60%0. 39-0. 09%0. 09%0. 785) *#29. 8 6. 78 6. 78
b A B T R m3
BHA HIlFE A 0. 6%0, 31%29. 8 5. 54 5. 54
A N~ BHO. 2m3 m3
0. 60%29. 8 17. 88 17. 88
T B ¥ M T RC-40~0 25cm m2
0. 60%29. 8 17. 88 17. 88
= @ ¥ M T|  M-25 10cm m2
M L. 4 m A< i 0. 60%29. 8 17. 88 17. 88
= J& T|#kiEAs 20F 4cm m2
+#> BHO. 2m3 18. 77-5. 54 13. 23 13. 23
o+ o BT 4t —2km m3
AsBf BHO. 1m3 0. 60%0. 0429. 8 0.72 0.72
L+ o ®m T 2 t —10km m3
0. 72 0. 72 0.72
A s #E HI BE B L m3




1 —2.FKE+ TNERCR) 1=2—4
i@z = 7t B =
g iR /NI B i L =X B 7 & a —
+ T
4.5 4. bm
) IESEAS ¢ 75

AS 2. 0%4. 5 9. 00 9. 00

aOE o W T 10cmPh T m
BH0.28m’ 0. 60%4. 5 2. 70 2. 70

B A R OBUEE LA A A t=10cmLL F m2
N R PREIRGA | 0. 60%1. 34%4, 5 3. 62 3. 62

o S - N = || R BHO. 2m3 m3
BHO. 2m3 (0. 60%0. 39-0. 09%0. 09%0. 785) *4. 5 1. 02 1.02

[ A i T R m3
et 0. 6%0. 80%4. 5 2.16 2. 16

T N~ BHO. 2m3 m3
M L. 4m AT 0. 6%4. 5 2. 70 2. 70

= J& T| ¥kiEAs 20 5em m2
+# BHO. 2m3 3. 62 3. 62 3. 62

¥ O+E m #® T 4t —2km n3
AsB BHO. 1m3 0. 60%0. 05%4. 5 0. 14 0. 14

0+ W B T 2t —10km m3
0. 14 0. 14 0. 14

A s HEHI FEM AL EE m3
M-40 0. 60%4. 5 2. 70 2. 70

B K T t = 15cm m2




1—2.fiKE+ THERCR) (1—2-—5)
%z = = B =
4 g iR NI R i L =X B 7 & a —
+ T
1.5X1.5 2. 25m2
FEAESTHL MTIEAS
AS (1. 5+1. 5)*2 6. 00 6. 00
aOE o W T 10cmPh T m
BH0.28m’ 2. 95 2. 25 2.25
B A R OBUEE LA A A t=10cmLL F m2
Ny RHREIAEA | 2. 87%2. 25 6. 46 6. 46
o S - N = || R BHO. 2m3 m3
BHO. 2m3 (0. 60%0. 39-0. 09%0. 09%0. 785) *1. 8 0.41 0.41
b A B T R m3
BHA HIlFE A (2.81-0. 78)%2. 25 4, 57 4. 57
A N~ BHO. 2m3 m3
2. 25 2. 25 2. 25
T B ¥ M T RC-40~0 25cm m2
2. 25 2.25 2. 25
= @ ¥ M T|  M-25 10cm m2
M L. 4 m A< i 2. 25 2. 25 2. 25
= J& T|#kiEAs 20F 4cm m2
+# BHO. 2m3 6. 46-4. 57 1. 89 1. 89
o+ o BT 4t —2km m3
AsBf BHO. 1m3 2. 25%0. 04 0. 09 0. 09
L+ o ®m T 2 t —10km m3
0. 09 0. 09 0. 09
A s #E HI BE B L m3
H=3. Om 1.5 1.50 1.50
HOAA MBS LHE T W=1. 5m m
H=3. Om 1.5 1.50 1.50
REWMAREA LT W=1. 5m m




1—2.fiKE+ THERCR) (1—2-—6)
%z = = B =
4 i iR /NI B i L =X B 7 & a —
+ T
1.5X1.0 1. 50m2
BIESLHL IEJEAS

AS (1. 5+1. 0)*2 5. 00 5. 00

aOE o W T 10cmPh T m
BH0.28m’ 1. 50 1. 50 1. 50

B A R OBUEE LA A A t=10cmLL F m2
N o TR EIAEIA | 2. 64%1. 50 3. 96 3. 96

o S - N = || R BHO. 2m3 m3
BHO. 2m3 (0. 60%0. 39-0. 09%0. 09%0. 785) *1. 2 0. 27 0. 27

[ A B T R m3
et (2.69-0. 59) 1. 50 3. 15 3. 15

T N~ BHO. 2m3 m3
AT S 1.50 1.50 1.50

= J& T| ¥kiEAs 20 5em m2
+# BHO. 2m3 3. 96 3. 96 3. 96

B+ A BT 4t —2km m3
AsB BHO. 1m3 1. 50%0. 05 0. 08 0. 08

B+ A BT 2t —10km m3
0. 08 0. 08 0. 08

A s R HI BE # AL BB m3
H=3. Om 1.0 1. 00 1. 00

HOAA M S LE T W=1. 5m m
H=3. Om 1.5 1.50 1.50

B R A R T W=1. Om m
M-40 1.5 1.50 1.50

B K T t = 15cm m2




2T CR)

- & At 5 &
P PR i /N H B = =iV =8
= #
.=600mm 4, 4/0. 6m/A=7.33=8 8 8
4l =4 $ 300 PN
1 1
A& & v vy b 1E




2T CR) (2—8)

g = it A =5
4 g 72N N i B 2V H AL % = o —
ga %

1 1

o m M T ¢ 300 ~
1 1

e B% W oM B T =
4.4 = 4.4 4.4

A4 — H 5l %k & T m
(0.3*°X 71 /4—0.09°X 7 /4) X 4.4 = 0.28 0.28

oA AN T m3




3. AP GR)

(3-9)
# = &t i1 &
——N4 wmrE R -+ &t " = BAL| HE U-ES
()
R I AIVN =R 1.5 =1.50m 1.5
- - e 300 X 300 m
SR B T.]0.117m2/m X 1.5 =0.18m3 0.2
B B B L T REEE - RIERRE m3
=0.18m3 0.2

a7V —NLERE (5 /) FEEEREDIH 4217 T /b

m3




